FH/AYN

1. 18

F(Name) | qr)a(A9)4) & B¥ LED 239

ZF(Quantity) 1ea A ZAHManufacturer)

\\V]
oo
H
w
dm
o

£=:

A 71712 A=A Jupiter Seminar Roome ¢ 50014 709 7S
2@ £ g o ARGl mE 9 3949 o
meeting roomZ} 2 AZANA AFL3 5 QoA FrrH oz 309 TES
o FEd £ vk 5 m olde We duE g@sadie] aTd:
A v o] 2] gt EQog FA49 27rol o A H 2 A2
o] gal7]o= We]l Hor  Algo] AFZHo|ty FEuA s
AEL d4 EAEx e Wy LED 2349 S 1949z o] Fozl
b 2 A71(136 inch)olw WEZRAES v=7 FRA S0
o] o] HolA s Avupdel gt Aol

l

O

N

AFGA N F/1 Moz T ARAES 2] AMUE ARt

gom, YRAoE AT Ug WE L A AT S B AL
FE AUE vhdstel AYUIE WU AT Ao, 39

A7we] AT £ AAsH] Astel 1 Bage] 433 Erh,

3. 717144

1. 136 inch & LED 233 (1 ea)

4. T4 L AF

136 inch ti¥ LED =3d
—  7§¥] 4l Die-casting aluminum cabinet
- FhH]AFe] Z(mm) : 1502.3 x 846.05
- AEUFA(EA) 2 x 2 = 4pes
- REAbe]Z(mm) : 250 x 281.25
- EETAEA) :12x6=72pcs
- A FA :131Kg °lst
- ¥7](nit) : 500
- woefd A ALe] Z(mm) : 3,004.6 x1692.1
- 3= (pixels) : 1920 x 1080 o] 4

— A ¥Xx:1.56 mm




0|
K
3
il
[y
<0
M =)
X cY
5
3 ]
hy A
o B
= .
o oF T
o El I
a m ol
N % RO )
s Jo ~ : i
& ~ 3 <
~ . b Nm Ju <
.. o o b3 Jjo ) ~
g o o 2 5
R T SRR
O~ .
F o, 0w T om o Mo | B
O o —~ Ho
=) B R~ - S o~ ENE e
SR oH | oy
© @ oo F g F % ot R0
I [ [ [ I -
B K| K |or | N
Fi LU W= 3
3 R T T
K X A A
~ 53 63
ww_. e |X " |RR R
K " _
- P FE R IK X
ﬂ oy ﬂa ~ &__; 1__/| N ._mlW
Wy W W ® " | N
Gk | S (N BF o | S A




[ =Hapl Ax| 70| =)

Step1. Install the left plate with connection plate .

Use 16pcs M3X12 screw (item 7) to install
the left plate Citem1) with left connection
plate(item3).

Step2. Install the right plate with connection plate.

—

/

\
NIl

.
'
i
& A : | g o
\ ]
/ -
K al a .0

\
= s il T P = .\l i e My P o 2m e
-— \ / A
~—— B i L -

Use 12pcs M3X12 screw (item 7) to install the
right plate ¢item2) with nght connection plale
and bottom connection plate(itemb/item5).

Step3. Connect the left assembly and right assembly by intermediate plate.

AN o



Use 16pcs M3X12 screw (item 7), to
install the left assembly and nght
assembly together.

Stepd. Double check the dimension after assembling. Install the mounting plate to the desired
location and secure them with 32 pcs M8x60 explosion screws.

(The followin%'l“ocations which should be installed the screws are marked in circle. The depth
is about 60-65mm)




Step5. Remove the bottom connection plate after installation.

S I I -iﬁﬁflfﬁlﬁ"%;fI}ﬁi,ifﬁﬁfﬁ.f.°ﬁ,'i

<

Ry
v o —

——
R~
—=
: il T
o 1" '._h' 'l
—_—
< N~
=N 1




	Microsoft Word - 가. 규격사양서
	20210915-6-1_구매신청서_대형스크린(65,560,000)



